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QUESTION 1

A correctly formatted entry has been added to /etc/hosts.deny to prevent certain clients from connecting to a service but
this is having no effect. What could be the cause of this? (Choose TWO correct answers.)

A. tcpd needs to be sent the HUP signal.

B. The service needs to be restarted.

C. The machine needs to be restarted.

D. There is a conflicting entry in /etc/hosts.allow.
E. The service does not support tcpwrapper.

Correct Answer: DE

QUESTION 2

What are the main network services used by the PXE protocol? (Choose TWO correct answers.)
A.DNS

B. DHCP

C.HTTP

D. TFTP

E. NFS

Correct Answer: BD

QUESTION 3

According to the Filesystem Hierarchy Standard (FHS), what is the path to the Linux kernel source and may be a
symbolic link to the real Linux source code? (Please specify the full path with no version information.)

Correct Answer: /usr/src/linux

Jusr/src/linux

QUESTION 4

Due to extreme system use, a Linux system requires some additional swap space. To initialize 5GB of additional swap
space, which combination of commands should be used?

A. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; mkswap /tmp/swapfile; mount /tmp/swapfile
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B. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; swapon /tmp/swapfile

C. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; mkswap /tmp/swapfile; swapon /tmp/ swapfile
D. touch -5G /tmp/swapfile; swapon /tmp/swapfile

E. mkswap /tmp/swapfile 512000; swapon /tmp/swapfile

Correct Answer: C

QUESTION 5

Which of the following commands will securely copy the directory ./fyf/ to /var/tmp/ on the remote host deltaur using the
remote user account kevin?

A. rsync -a -e ssh kevin@deltaur:/var/tmp/ fyf/
B. rsync -a -u kevin -e ssh fyf/ deltaur:/varitmp/
C. rsync -a -u kevin -e ssh deltaur:/var/tmp/ fyf/
D. rsync -a -e ssh fyf/ kevin@deltaur:/varitmp/

Correct Answer: D

QUESTION 6

Due to extreme system use, a Linux system requires some additional swap space. To initialize 5GB of additional swap
space, which combination of commands should be used?

A. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; mkswap /tmp/swapfile; mount /tmp/swapfile
B. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; swapon /tmp/swapfile

C. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; mkswap /tmp/swapfile; swapon /tmp/ swapfile
D. touch -5G /tmp/swapfile; swapon /tmp/swapfile

E. mkswap /tmp/swapfile 512000; swapon /tmp/swapfile

Correct Answer: C

QUESTION 7

What is the minimum number of disks required in a fully redundant RAID5 array?
Al

B.2

C.3

201-450 PDF Dumps | 201-450 Exam Questions | 201-450 Braindumps 3/6


https://www.certbus.com/201-450.html
https://www.certbus.com/201-450.html
https://www.certbus.com/201-450.html

www.CertBus.com https://www.certbus.com/201-450.html
CE RT 2024 Latest certbus 201-450 PDF and VCE dumps Download

D.4
E.5

Correct Answer: C

QUESTION 8

What is incorrect about these entries in /etc/hosts which could be causing host name lookup problems with host2?
hostl 192.168.1.12

host2 192.168.1.12

A. Two host names are using the same IP address.

B. The server doing the query is on a different subnet.

C. The fields are out of order.

D. host2 is not a fully qualified domain name.

Correct Answer: C

QUESTION 9

Which of the following commands shows capabilities and usable frequencies for the wireless interface wlan0?
A. iw phy pyhO info

B. iw dev wlanO info

C. iw dev wlan0 show

D. iw phy wlan0O show

E. iw phyO show

Correct Answer: A

QUESTION 10

What command is used to send messages to all users currently logged in? (Specify ONLY the command without any
path or parameters.)

Correct Answer: wall
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QUESTION 11

Which of the following best describes the format of the /etc/fstab file?

A. device name; filesystem type; mount point; mount options; dump filesystem; fsck order
B. device name; mount point; filesystem type; mount options; dump filesystem; fsck order
C. device nhame; mount point; mount options; filesystem type; dump filesystem; fsck order
D. mount point; filesystem type; device name; mount options; dump filesystem; fsck order
E. mount point; device name; filesystem type; mount options; dump filesystem; fsck order

Correct Answer: B

QUESTION 12

Which of the following are common backup systems used in Linux? (Choose TWO correct answers.)
A. Amanda

B. Bacula

C. DrBackup

D. BREWBackup

E. SARcheck

Correct Answer:. AB

QUESTION 13

Which two LVM commands are missing from the following sequence which is used to create a logical volume and make
use of it on a Linux system?

pvcreate, , , mkfs, mount

A. lvcreate, mdadm

B. Ivcreate, vgcreate
C. Ivmcreate, vgcreate
D. vgcreate, Ivcreate
E. vgcreate, mdadm

Correct Answer: D
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QUESTION 14

The following command has just been run successfully: cd /opt; tar xvf /dev/nstO;

What will happen if the command sequence is run again?

A. An error saying that there is no tape present is generated because the tape has been ejected after being used.
B. The contents of /opt will be restored again.

C. The entire contents of /opt will be replaced with the contents of the next file on the tape.

D. The contents of /opt will have additional content added from the next file on the tape.

Correct Answer: D

QUESTION 15

Which of the following commands lists IPv4 addresses and MAC addresses of network nodes that the local system has
seen on its directly connected IP networks?

A. arp

B. ifconfig
C. ipadm
D. iwlist

Correct Answer: A
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